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‘ Dalitz-Plot Parameters I
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Y resolution on MC

On a sample of 130000 MC events.
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‘ Fit strategy I

Event density in the XY plane may be parametrized by:
IM(X.Y)|?2 =1+aY +bY2+ cX?

In first approximation we neglect "b" and "c"
IM(Y)[2 =1+aY

N (X,Y)
2 :;;: & (;X?ajf)
M) =
j dx

Phase space

* N(X,Y) is for each bin: the number of events of Dalitz-plot.

» €(XY) is for each bin: the efficiency as a function of Dalitz-plot.
- Phase space correction is applied when summig over X bins.

» Efficiency obtained on an independent MC sample.




‘ Results of fit I
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‘Analysis on Da'l'al

The analysis has been applied on 16 pb-! from 2000.

The cuts used to select: n - 1 1T 1 are the ones used fc
the mixing angle analysis (Kloe memo 266).
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‘Fi’r on Da’ral

abs( Fitted slope)
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dN / dY (phase space normalized)
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‘Conclusions and ou*l'lookl

*The fit procedure has been tested on MC and
reproduces input parameter

Some work on optimization of resolution has been
carried on

‘First glance at data is encouraging, signalling sensitivity
to quadratic slope(s)

-Still a lot of work ahead: systematic corrections,
genuine 2D fit (o determine c), run on 2001-2002 data,
possibly resolution unfolding...
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